2 F R g EEA SRR 2R T RS

T3t (6] B EAEA e g

,-1
‘7“_.
—
5
—
4
ﬂ'\\
i
G
@&
\ —

A TEEFEY 20 TOREH UGN 2% 2 Wk
(FRFH)E KRR B2 MR - BT BREE S 3
Ry TR fRS R %fﬁf%diﬂ%%%&{%ﬁ NIRRT

WRHCA KD FIR ARG - AR R BT - Y2
K2 BF R B R o

M-
Ifé

\
‘74.,

Bt 2 2 pERFR 7 Sofiest (1) 1F A U SEA ek 0T
BFFERLT TR E TR
Yo = X X Yot = Xeq = Vit =K XY ot [3.1]
2o B R LW N R 28 2
G2k A B G 25 2 TR (Wl 3L ) i~ BB i3

=X

S SRR CE SR (IR UL RECE

€ +e

Bk My, =-051F 5 4= 4ot 2> & — B3] ol R 5%

ﬁ’ﬁ

(%) P HEH S
BE A 4 100 B 2 TRIFZ DRI G0 ¥ b b —k g 4o i
T g S lcE 2 ¥ 100 B FALIT L SR b

MEA SR R B 2 BFGS iy i o JraciE it A =g i
w*lfoiﬁﬁﬁw%w7Nﬁ@’%wﬁ,wuﬁﬁw%yﬁﬁ
LR R (H S R Ao R 32 97) 0 B FARE - R0 & R A g

S EEURYCERIE SRATC O RS E SRR F CR R
i

El

< G ¥R RS T FIE ORISR 0 @ IR AR 3.4 AT o
- TP A et S (S E PRI R - B L R

3-1



’fi‘&ud“)\ , u%—ﬁ;_«%w]g@lﬁ—%zi% (‘&\:‘Fﬁ:]33’*l"‘l‘)’ i
T A e ABE S BT AT B GRS RRT ISP 2 S A K
HIER & 19

3.2 B A SRRRE S F T OREHE N

NG e T oRECE R MODFLOW 2 4 FEpt* s = g pd g
PR TS EEFERN Y AN T LR TR RN BB
MODFLOW 5% 2 24 & fedicdy > 4 %) 5 P RE G EHRFEZ ] B =3
TUREAY e iR aE 2 b TTORECERCS 0 B R ARACR] 35 47 0 A 5 =
WAoo oE g ITEMEA A B AT 2 T EEA SRR 0 et 3.2
| bt

Ho=po UgpA SRR TR TR R 2R P A E)
U3 7T fednhp Y] SRR < % S R A e R
Higw ket Mal NEEL S ARG M-t 322 1S KT

@ég—%ﬁ/?ﬂ?\ LU ﬁ;& y 1 l%%é%_‘%ﬁzé 4w zJ;g_ Z_ 3;!“ fé‘_.]ﬁ"ﬁl& H* 'kJ_" o

AL RE* US.GS. B4 chy T oK ficiE ficst MODFLOW » #54%
- B Eeds B GRE  HERE TR RS T 2 kg
oo BN A tiaE B 4o 3.6 #1F 0 HEEEHS B % 17000(m)x17000(m) +
e e A, s g Ao 170x170 B R R 0 B OB o F < o] A
100(m)x100(m) o H -k = 3 S8k Tdod 31 #77 > H P k4 BHE
T #c s 0.00L(m/sec) > 7 rxIt M F 5 0.2 Bk hEics 020 7 kA
ERGZIO0mM -f#hRE: T B ansf Rzt 243



WRhEE L ok R s 4w 100(m)% 80(m) s Bk i
BRIV w Al 2o Lt o A iE E R A KK E K PP
i R iE 2 FERCK IS K2 Ao deoR oK 22 5 4o B 3.7 AT o

HE G % 4B 3.6 977 0 sl 1 P 5 ZEBIY > %HEL5F 9 L
kH . E - e 5 100 B E - F 2 KRR P TURR T
% 03 05cms 2 FF > g fic-T-RE (e 0 £ T40F i 100
Bt o AEbIg Hiv 22 3650 £ 7L » £3-% 100 £ - & B
B2k m4eB 3.8 & 3.12 #i% o

?ﬂ@ﬂ*@’ﬂﬂ%%%&JTwégﬁ%i%ﬁomﬁﬁ
110(m) » AKX 8t T UL FHREEESH R TR RGHE
Fer-13 12 /o

L2 EENLE T

A7 i % MATLAB 2 Neural Network & ;¢ B i = — 3 H -
SRR R U B AR R R S -
LICIEIN SR S SRR NS SERN 5 4 2 SOl RIERAN:
SR SARE IR RIS I P PR S SR IR ' 2 6
BRI T L Pl sk i) SRR 5 20 BB B - K 1R

—-X

GO gt ool h A RSB (0= "0 o AR T8 UK R
T

e +e
AR OB o SEAY SRERLZ R Y 2 5% BFGS

CiE R G R A e aciE )+ 107 o

E‘V‘

3.2.2 ¥ T okl I PR
EH R E 2 A GRT KT RN SRR DL
B M WY - e R GEEE AR ST RR



(Hindz4r®) 313 #77) > AFTE Mn* 320 ) A - STk AR
Bt A W R SR P liE 2 A A R AR R RE
20 RBFRFIFRZHRFE A E 5 - FERLRE S k4
BT A %«uﬁ’ 5§ %4 T Rk (7 50 » MODFLOW fii5¢ » 1t

)}

A AT B2 MODFLOW HE5Y & & Hiog 2 ok =5 1 o

ﬁ

0] AT 33K

ARERCIE GBI AL LRKEF KT B 314 1 F
318 5 LRI 2pFRlz k=B 0 B 3.19 3 R 3.23 Al AT
$0A 25007 2 k=% d Blo kT8 Ry S8 EFG
F3ER) > 2 MODFLOW st ficdpAnrt » ¥ N K =% o 4
32 5 ABRIE 2 A4 wHY TR 3L hA LT r 2P
£ 03 8L by TR kS BL(AoR] 36 TR ) 0 H ok i £ 5
TR R HOR TR 2 FOES R FI R A S AT H R RR T
LBk od A 32 w0 543650 B (A kRS 0 HE XL L
244 = % s MR R EApEIEL S 4.06% 0 B HRGEL AV &
%4 o

% b B(Fy 17 a0 dK)

PR GIZRFIRA S BAS KR BER Ak 2 BRI
F 18 A ek~ 18 4 E-kH 212> B 324 1R 328 & L
BIE APEY 2 ok 0B 329 1 B 333 R EEE N5 04 T 500
A2 kgt d Blokrid SRBEY S# e TREIER 2
MODFLOW it #icdpiptt » ¥ A EH K81t o & 3.3 5 & pLipl
H 2 3% 0 d £ 33957 0 iE 3650 PER (A BB 0 Bt A
354 2% o LK HAREEEAL 5 5.90% 0 B HOEGEA AT

3-4



BEPR o wAGELRE A kit o

FERUIA LRV B LA&RE T I
Pl bR AT ok g BT o T

%T7J{F}’@’%%§_;\: °

3-5

T
i)
S8



%31 k2 ¥ Sl

7ok K Sdicn P 3
kA4 4 #c 0.0001(m/sec)
Bk 0.2
SRy 0.2
pF R R BE 10 = (A)
ZokE B R 110 m

7 3.2 B F G A LA A4

s 3£ () | #9313 (m) | & T s (m) | AR ()
(MSE) (RMSE) (AME) (Max error)
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